FERAES B RE

BIERRK

V—LINE® SiIME~mA JES AN

GL150

AEE BF HE ETREFE

2 RS B IHE B TTRR Y

V-LINE® BYEERERER T

JREIRTT SIEFI S IEA ERBEIARIESN

EETHEHTLER. sHEAMMEIFNEAY MNABSHIAXIUERNUEEFOTEER  BRTITEENET LY E ) EARE K
SIRAAIV-LINE® IR H AT # 75 7K ", SHRREARNBILHNEEIN i, RERESHBIRLINBEHERBAN
SE, SWEESHNEERREIERIER SEIMRIA—6, EETRARERESR {4, #HPRSTOEME.

EMMS RIS BLEE.

ot

anp
iy

O3

Y OW RIPHIR

RE P

HREREHNARNEEEREE,

AR R

g & W

R

OV-LINERH RS ID 8 T B AR E MR,



V—LINE® SFfAME= SR JESAEA

GL150

B

fRE

BiLERRTEREHE

BIUOESRE

BEAR=ZR

Mold installation dimensions Drawing

Ejector rod end tap
3-M12x1.75 Tap Depth 25

25

200
490
680

Movable platen

Max. mold open stroke

5M16x2.0 Tap Depth 28

= ATERE 28 32 40
BAAEN N 1472 Bt mm
HEER mm 28 32 40
SHEERE (WxL) m 560 x 520 BRREHESD MPa 240 220 210
AT ERISAE cm® 83 108 251
BATRITIE SETE
= S 900 SES 500 400 300
(B BATTRR) ™ BAERER /o
B1IREN kg/h 30 40 44
&I/ BRAEREE mm 250 / 600 HRRTE5EE
- PRRT (BxRxH mm 4400 x 1378 x 1878
TR TR mm 120 L3 Rt )
HRES kg 5000 5100
o 1000
4400 a8 D e
= = - -
3 N N $
7 Mold installation face
8 o]
:|
+—n_ A o
T ‘;”‘"ﬁm:
I—— — P
— 417 - - S— U [—
: ] T O = P
b=
] M . =
[ & == B
Power supply socket Air supply Re1/4 Water supply Re1/2 iﬁi . mm
=]
Main spec of nozzle (P28/P32) Main spec of nozzle (P40) Bolt hole for take off robot
Diameter of Outside diameter || piameter of Outside diameter fesi feed. Tan sze or hoooer 120 120 AMI21.75 Tap Depth 24
nozzle gate Extension | Sphier R of cover nozzle gate Extension | Sphier R of cover 4-M12x1.75 Tap Depth 20 o —t
1.5 60 10 ©34.4 025 80 10 ©386 = |‘7 I I ;_I 8
920 60 10 0344 930 80 10 0386 5] =| °e oe
25 60 10 ©34.4 ®35 80 10 ©386 1 T 2
3.0 60 10 $34.4 4.0 80 10 0386 3l 200 200 <

6-M16x2.0 Tap Depth 32

Mold installation surface

52-M16x2.0 Tap
Depth 40

Ejector start position
1

560

AN
Fixed platen

25 8-M10x1.5 Tap
Depth 20
o g
g g
¥4 =
o S . .
33 8 g
T LU AL N
mr ol 9
= g% Van\ EEREEER
W) EEEEEEE
[=1 - o ) % T3
R ANHH

2- 16 H7 Depth 30

B mm

O AAFFREEXEA (BFERF) NHOZESNCURIMEFRENLAR. HPHEH

AERZIEEHASFHNEYE QSR HOSREMEES0AL TELEZ AL,
OFF*HmEFREHE KM 30cG EMMENE K.
OHTAMKIM R ., —LMREHIAELBEH.
@K@ BEFA 2015 £ 09 AR ENAR.

@/ BHRHETHES .

Printed in Japan

Sodick Co..L.td.

3-12-1, Nakamachidai, Tsuzuki-ku, Yokohama, Kanagawa
224-8522 Japan
TEL: 81-45-942-3111 FAX: 81-45-943-7880

http://lwww.sodick.com.cn
http://www.sodick.co.jp

R1009002.2015.10<00>



